Pre-Calculus

Review Quiz #9
Chapter: 7-1 to 7-2

Name

*#*CALCULATOR IS ALLOWED ON THIS PAGE***
Topic 1: Trig Identity Basics

1. Use sin’x + cos’x = 1 to create the other 2 identities:

Use the ratio sin x = % to answer the following questions

2. cosS X 3. secx

4. tan x 5. csc x

Pd

Topic 2: Standardized Test Questions (continued on the next page)

SAT/ACT Questions

@ A function f.‘is -an odd function if and only if

Zx) = ~f(x) for every value of x in the domain of f.
{)(ne)of tﬁe functions graphed ‘in the standard (x,y)
coordinate plane below is an odd function. Which one?

A, Yy D.

The equations of ‘the 2 raphs
g show "
yi(H) = a, sin(b P n below are

1) and yy(N) = a, c0s(byt), where th
» 2 e con-
stants b, and b, are both positive real numbers.
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A function P is defined as follows:

for x>0, P(x) = x*+x* ~36x-36
for x <0, P(x) = + x* + 36x - 36
What is the value of P(-1) ?

®

oSow

Which of the following st
ateme
stants a; and a, ? - i

is true of the con-
A, 0<(l|<a3 ;
0<ay<a '
a4y <0<a,

o <a,<0

@ <a; <0

]

@ For x such that 0 < x < %, the expression

7 n
A. -70 Vl;:;:s L4 \/lc;:‘\f‘lx is equivalent to:
B. -36
C. 0 F.. 0
D. 36 G. 1
E. 70 H. 2
J. -tanx
Notebook Check: K. sin2x
{




***CALCULATOR IS NOT ALLOWED ON THIS PAGE***

Topic 2: Trig. Identities

Simplify the following:
1, MY 13. ¢4 14. (sinx + cos x)* — (sin x — cos x)*
tan x tan x

Topic 3: Verifying Trig. Identities

15. sinx +sin x - cot” x = csc x
1-sinx
16. =secx —tanx
COS X

17. tan x = vsec> x — 1

18. sin? x + cos? x = cs¢? x —cot? x
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[. Use sin®x + cos’x = | to create the other 2 identities:
v - -2
Tontx F12 Gec? X
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Use the ratio sin x = % to answer the following questions
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2. cosx V7, 3. sec X =

3‘1:; 5. ¢csex o %
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SAT/ACT Questions

@ A function S is an odd. function if and only if

alus of & i the domain of f.
4 in the standard {v.y)
d function, Which one?

Flox) = f(x) for every v
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The equations of the 2 graphs showsn below are

| @ 4l = a si
o 3l = agsindby) and (1) = ay cos(byr), where the con-

‘stants by and b, a{c both positive real numbers,
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Which of the following statements is true of the con-

stants a) and @, ?

A Qén, <y
B 0<a,<a

LGy <Oeq,

_D‘_ L] <-“'.-'<_.0
E. ay<a<0

SIAX oS

@ for x$ch that 0 < \% , the expression

: v - i . »
Mizcosx  VI=SWX ¢ oquivalent to:
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sinx CosX
7, It} yo-
. [-41= 2.
2
J. ~tanx
K, sin2x
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Topic 2: Trig. Identities

cos’x = [ to create /th/e

'

Use the ratio sin x = . fo 1-(w//el' the following questions
8. cos x )‘i 9. secx
v \

10./@1/( '““\\ [1. cscx

Simplify the following:

d’if}er 2 identities:

(v

7. Usesin®

¥ (o, 30X seex 14. (sin x + cos.x)” ~(sinx — cosx)?
ﬁ,\' tan x Sguas e both = Foll.
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Topic 3: Verifying Trig. Identities ’ ”
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